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ER: B



B 23(2006-34) & f(x)#E x=04biELE, Hlim f SZ'Z) =1, W

(A) f(O)=0H f'(0)3 (B) f(0)=1H. f'(0)3
(C) f(0)=0H f/(0)3 (D) f(O)=1H f/(0)3

N _f(h?) . ,
S 1. lim =1=1imf(h*)=0= f(0)=0

h—0 h2 B
2
2 im0 g iy T TO g fr(0) 21
h—»0 | x—>0* X

R



Bl 24(2013-1) BEmH y=Ff ()T y—x=e"gi%E, W limn[f (%) -1]=_

(VAR FEHTE y—x=e*Y) b 4 x=0, B y=1, ZXFHHXT x RS5.
y=1=e*4Y) (1-y-xy”),

% x=0, y=1 fRA L=, B y’(0)=1,

. f(1)—f(0)
imn[f()-1=lim—"

n

=f '(0)=1.



%] 25(2018-123) F A R+, £ x=04AFFHRZ
(A) F(x)=|x[sin|x|  (B) f(x)=|x[sin|x]

(C) f(x)=cos|x| (D) f(x)=cos\/m
S A, L@M‘Lﬁ?')(' =0
B. |m x|sm\F limi— X|
h—0 h—0
2
C. “mcos|x| 1 —llimﬁ=
h—0 ?2 h—0 ¥

cosa/
D. Iim I|m

x—0 2 x—0 X




1l 26(1989-3) 1 f(X)FE X = a KIZZABIMAF = X, M f(X)7E x =a it =
KI—AFE 70 %A R

(A) lim h[f(a+ Z)- f(a)]ﬁfb (B) Lilpon[f(a+%)—f(a)}ﬁﬁ

h—-+o0

©) lim @+ -T@-h) o (p) Iimf(a)_:(a_h)ﬁ%‘t

h—0 2h h—0

f(a)— f(a—h) _lim f(a+t)- f(a)

247 Dy lim = f'(a)
h—0 h t—0 t
1, x=a
Co f(X)= lim f(a+h)- f(a— h)
0, X#a h-o 2h

f(a+t)— f(a)

A, Ilmh[f(a+ ) — f(a)]_l

h—+0 t—>0+

= f/(a)
1
f(a+ﬁ)— f(a)]!&$: D

=

B. Iim n[ f(a+%)— f(a)] =lim

n—>00 n—»00 1
n



—. BEERE. BRE. SHHFERE
5] 27(1993-3)8F y = sin[ £ (x?)], Eor f B =B 5%, 2‘2%

iz . dy_ 2x cos[ f (x*)]f'(x?)
dx

2

dy_ 2cos[ f(x?)]f'(x*)=2xsin[ f(x*)][f'(x*)] - 2x +2xcos[ f (x*)] f"(x?) - 2x

X2

=2f'(x*)cos[ f (x*)]+4x*{ £"(x?)cos[ f (x*)]—=[ f'(x*))sin[ f (x*)]}



Bl 28(2012-2) ¥y = y(X)RHGTE X~y +1=¢’ FiffE KRR E, T
d’y
2 |x=0=
d“x

fiR: ¥ x=0 fRAFE X~y +1=e’ 8 y=0.
TEHRE X~y +1=e’ WIS x REH/ 2xy=e’-y/
RN x=0, y=078 y’(0)=0.
BN 2xy/=e’ .y’ WXt x R\ 2-y7=e’-(y)’+e’-y”,
A x=0,y=0, y’(0)=0 & y”(0)=1.
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Bl 29(2013-1) iﬁ{“s"_” (vsg WY -

y=tsint +cost dx* i
dy
s sy X dy dy dt
: AT — =cost,— =tcost, W -Z=—-1=t.
¥ dt dt dx dx
dt
IEEId2y=d dy)_d dy\dt7ﬁ
dx? dx{dx) dt{dx/dx
d°y dt 1
dx?| » dx|_= cost|_= V2
=7 4 4



=. EhEH

Tk 1. FKFEMAE
2. T2 REHFHHFE AKX
3. RMREAN
4, FBEEF (F3HnX)

f(x)=> a,(x—x,)" = fV(x,)=a,n
n=0



1] 30(2007-23) & FH K Y = = , Wy (0) =
2X+ 3

(-1)"2"n!
(2x +3)™’

o7 Y (X) =




1] 31(2015-2) B¥k f(X)=x"-2"FE x =04EHn

S £ (0)=__ .
it RIRA AR X
f (n)(x) — zn:CrI:(XZ)(k)(ZX)(n—k)
=Cx*(2)!" +C2x(2")" +C22(2*) "

f () (0) — Cr? 2(2X)(n—2)

E: ETFERARZHET X

_ =n(n-1)2*(In2)"*

~=n(n-1)(In 2)"2.

X=



0. SERIMNFE
1. FEHUTE
5] 32(2011- 3)11\#3&tan(x+ y+— ) e’ £%(0,0) &

&R FTAEA |
[$/] HAEARLNT X KFHF
secz(x+y+%)(1+yr)=eyy,
4x=y=0 & y(0)=-2,
0 d &A% (0,0) RG9S EFAEN: y=—2X.




[ X = arctant,

y=Iny1+t?

18] 33(2013-2)Hh £, 4 st F ot =1 8984

W ERTALN
sl [ x =arctant, - -
i# R t=1 AR S #FX=—, y=—In2,
y=InV1+t?, 2
dy t
ay|  _dt| _ 1+t g _
T S
dt for  14+t% |y

1 T 7z 1
FrRERFAZEHN y——IN2==(x=—), BPX+Yy=—+—-In2.
TRIEZFTAEN Y > (% 4) P y 215



T
e?2

1] 34(1997-1)7F 3% % p = e’ £ & (p, 0) = L %] 2]

MR A A LT TAER .
x =e?cosd
[£/%] xa‘%%ii%éié@é‘ﬁiﬁi?ri%)’v{ 5.
T % y=e’sing
f=—n, x=0, y=e?
2 dy
dy| _do| _ __
dx|,_= dX e’(cos@-sinb)|, »
dagzg
:

TR RO A ALIRTREA X+y=8e



19 35.3% f(X) RTHBHK, A X =00 EARBNHL
f(eX)=3f(L+sinx?) =2x%+0(x?),
EWEy=F(X)EE (=L f(=1) Rty H4

f(eX)=3f(L+sinx?)—2x

2 1. g lim > =0, &
x—0 X
f(l)—3f(1) 0= f(1)=0
). Iim(f(e ).e 2—1 3f(1+smx) sinx® _2)=0

x>0 X _1 X sinx? X
A '(D)-31f'(1)-2=0=f'(1)=-

3. f(=1)= f(1)=0, fF'(=))=—F'() =1 & FEH y= x+1



2. FARZAFE
BX=X(1),y=y(t1) HEATFHK, REFTxHyZH

AEXEMXZ, l%i%ﬁ——%m/&ﬁﬁﬁkﬁ% X H
Aﬁi%ﬁ%i%$ﬁhﬁ%£%$.



1 36(2016-2)i& E4ndh & P £ ¥K y= X _Liash, n Ak
BEebP ReERN]. F5P BELIREHE G TLENTHK

Vo, M EP &2 & (116, | AFemeyTas g

(] &35 P(x, x%), R"J|=\/X2+y2 = X2+ X,

dx
H—=Vv, T&
dt  °

dl 2X +6X° dx

At y-1.) 2\/ x2 + x® dt

X

1

= Zﬁvo.



